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from: /misc/yoda/pub/pad/, hrovat, 18−Mar−2016,14:46:28.530

f(Hz) = 54.28
PSD(g^2/Hz) = 5.339e−07

f(Hz) = 1.175
PSD(g^2/Hz) = 4.362e−08
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f(Hz) = 54.28
PSD(g^2/Hz) = 6.838e−08

f(Hz) = 0.7935
PSD(g^2/Hz) = 1.287e−08
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f(Hz) = 141.7
PSD(g^2/Hz) = 6.973e−09
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SAMS2, 121f05, COL, Starboard Endcone, Adapter Bracket, 200.0 Hz (500.0 s/sec)
Span = 5400.00 sec.

Hanning, k = 33
SSAnalysis[ 0.0 0.0 0.0]

.

P = 0.0%, No = 0
Δf = 0.008 Hz, Nfft = 65536
500.0000 sa/sec (200.00 Hz)
sams2, 121f05 at COL, Starboard Endcone, Adapter Bracket:[378.90 320.60 233.90]

f(Hz) = 54.28
PSD(g^2/Hz) = 1.103e−07
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Start GMT 05−March−2016, 065/03:35:00.000

f(Hz) = 1.091
PSD(g^2/Hz) = 1.109e−07

f(Hz) = 141.7
PSD(g^2/Hz) = 8.646e−08


